HIMACHAL PRADESH PUBLIC WORKS DEPARTMENT

No.: PW/ESDU/NIT/2025-26/ 24 - 25

Dated: 05-04-2025

To

The Executive Engineer (IT Cell), Nirman Bhawan HP PWD,

Nigam Vihar, Shimla-2.

Subject:

Publishing of Tender Notice.

" Jai Hind"

Sir,

Enclosed please find herewith the Tender Notice of works as given in the Notice Inviting Tenders along with Schedule of Quantities for uploading on departmental website as per Notification vide Secy. (PW) to Govt. of Himachal Pradesh letter No. PBW (B) A (3) 1/2024 dated 03-01-2024. It is certified that the works mentioned in the Notice Inviting Tenders are urgent in nature and in public Interest.

DA:- Notice Inviting Tender & Schedule of Quantity and Certificate.

Assistant Engineer, Electrical Sub-Division HPPWD Una

Copy forwarded to the Executive Engineer, Electrical Division HPPWD Una for information and necessary action please.

Assistant Engineer, Electrical Sub-Division HPPWD.,Una

Office of the Assistant Engineer Electrical Sub-Division, HP.PWD.,Una *NOTICE INVITING TENDER*

Sealed percentage rate tenders are hereby invited by the Assistant Engineer, Electrical Sub-Division HP.PWD., Una, in form No.6 & 8 on behalf of Governor of H.P. for the following works from the contractors of appropriate class enlisted with HP.PWD. (Electrical) or authorized firm for specialized jobs. The tenders shall be opened on dated 14/04/2025 in the presence of contractors/firms or their authorized representative who wish to be present.

The copy of Authorization letter alongwith GST No., Pan No., and EPF No. shall be attached with application form. The offer of the tender shall remain open 75 days from the date of opening of the tenders. The undersigned reserves the right to reject/cancel the tenders without assigning any reason. The tender form will be issued to only those contractors who qualify the criteria after the scrutiny of application forms by the committee constituted for the purpose.

TIME SCHEDULE OF TENDER

•	Last date of receipt of application	:-	11/04/2025 up to 01.00 P.M.
•	Date of sale of tenders	:-	11/04/2025 up to 04.00 P.M.
•	Last date of receipt of bids	: -	14/04/2025 up to 11.30 A.M.
•	Date of bid opening	:-	14/04/2025 up to 04.00 P.M.

Sr. No.	Name of work	Estimated Cost (In Rs.)	Earnest Money (In Rs.)	Time limit	Cost of form (In Rs.)	Eligible Class of Contractor
1	C/O 2 nos. class room at Govt. Sr. Sec. School Dulehar Tehsil Haroli, Distt. Una. (H.P.) (SH:- Providing E.l. therein).	99,869/-	2000/-	Six Months	350/-	Class-D,C
2	C/O OPD room cum Toilet at CHC Daulatpur Chowk Tehsil Ghanari Distt. Una(H.P.)(SH:-Providing E.l.therein).	79,156/-	1600/-	Six Months	350/-	Class-D,C
3	Providing Sercvice of 01 No. Electrician Gr.II for attending the complaints of E.I. in C/O New Judicial Court complex Amb Distt. Una (H.P) w.e.f. four months from awarded	90,520/-	1800/-	Four Months	350/-	Class-D,C
4	date. C/O 2 nos. class room at Govt.Sr. Sec. School Dulehar Tehsil Haroli, Distt. Una. (H.P.) (SH:-Providing accessories therein)	~~	2000/-	Six Months	350/-	Class-D,C

GENERAL TERMS AND CONDITIONS:-

201110917

- a. The earnest money in the shape of NATIONAL Saving Certificate time deposit account in any of the post office in HP/FDR or any bank duly pledged in favour of Assistant Engineer, HPPWD., Electrical Sub-Division Una accompanied with the application for receipt of tender form along with cost of form.
- b. The Contractor/Firm should be submitted the all above-mentioned documents (photocopy to be self-attested) with the application for obtaining the tender documents.
- c. In case office happens to be closed on any of the above mentioned dates, the bids will be opened on the next working day at same time and venue.
- d. The contractors/firms are required to quote their rates clearly both in words as well as in figures, failing which tenders are likely to be rejected.
- e. No Person/persons shall be allowed to give the documents with regard to tender unless he/they hold/holds the power of attorney duly registered under law.
- f. The tender of those contractors who are registered under H.P. Central Sales Tax Act 1969, GST and who have been cleared all the dues on account of tax will be entertained.
- g. The competent authority on behalf of Governor of H.P. reserves the right to reject any or all the tenders received without assigning any reason.
- h. The eligible Contractors/Firm should furnish performance certificate for specialized jobs as required.
- i. The tendered amount should be within the limit of (+) 5% to (-) 30% as per notification No. PBW(B)A(3)1/2020-1 dated 07.10.2021 shall be applicable for Bid price lower than-10% and more than + 5%. If the Contractors/Firms has quoted bid price lower than 10% the performance guarantee will be deposited before the award of work as per terms & condition of above said notification.
- j. The scope of work can be increased/ decreases without any notice.

Assistant Engineer, Electrical Sub-Division HPPWD, Una

Dated 05/04/2025

No. PWD/ESDU/NIT/2025-26/- 19-23

Copy along with its enclosures is forwarded to the following for favour of information please:-

- 1. The Executive Engineer, HP.PWD., Electrical Division Una.
- The Deputy Commissioner Office Una
- 3. All the Contractors/Firms working under the control of this Division/Sub-Division
- Notice Board.

Assistant Engineer, Electrical Sub-Division HPPWD, Una

	DRAFT SCHEDULE OF QUANTITY					
				Estimated		
				Estimated cost:- Rs. 99,8	69/-	
			-	Earnest money:- Rs. 2,00		
	NAME OF WORK :- C/O 2 nos. class room at Govt.Sr. Se	Coheal	Dutat	Time Limit:- Six months.		
	(SH:- Providing E.I. therein).	C. SCHOOL	Dulenar	Tehsil Haroli, Distt. Una. (H.F	P.)	
S. No.	Description	Quantity	Rate In Fig.	In Words.	Unit	Amoun
1	Wiring for light point/ fan point/ exhaust fan point/ call bell point with 1.5 sq.mm FRLS PVC insulated copper conductor single core cable in surface / recessed steel conduit, with piano type switch, phenolic laminated sheet, suitable size MS box and earthing the point with 1.5 sq.mm. FRLS PVC insulated copper conductor single core cable etc as required.L&T/Anchor/SSK					
2	Group C.	34	1588	Rupees One thousand five hundred eighty eight only.	Each	53992
2	Wiring for power plug with 4x4 sq.mm. PVC insulated heat resistant flame retardant (HRFR) and low smoke single core (flexible) copper conductor cable in surface/recessed steel conduit along with 2 NO. 4 sq.mm. HRFRLS/PV C insulated single core copper conductor cable for earthing as required. (Finolex/Anchor/KEI make)	12	703	Rupees seven hundred three only.	Per metre	8436
3	Wiring for circuit/ sub main with following size PVC insulated heat resistant flame retardant (HRFR) and low smoke single core (flexible) copper conductor cable in surface/recessed steel conduit along with 1 No. HRFRLS/PVC insulated single core copper conductor cable of same size for earthing as required. (KEI/ Anchor/ Finolex make)				*	0
	2 X 1.5 sq. mm + 1 X 1.5 sq. mm earth wire	30	282	Rupees Two hundred eighty two only.	mtr	8460
3.02	2 X 2.5 sq. mm + 1 X 2.5 sq. mm earth wire	20	332	Rupees Three hundred thirty two only.	-do-	6640

٧.

	2 X 4 sq. mm + 1 X 4 sq. mm earth wire	11	395	Rupees Three hundred ninety	-do-	4345
3.04	2 X 10 sq. mm + 1 X 6 sq. mm earth wire	1	696	five only. Rupees Six hundred ninety six	-do-	696
4	Supplying and Drawing following size of PVC insulated, heat resistant, flame retardant (HRFR) and low smoke single core (flexible) copper conductor cable in existing surface/recessed, steel/PVC conduit as required. (KEI/ Anchor/Finolex make)			only.		0
4.01	(a) 3x1.5 Sq. mm.	12	100			
4.02	(b) 3x2.5 Sq. mm.		100	Rupees One hundred only.	-do-	1200
_		12	151	Rupees One hundred one only.	-do-	1812
5	Supplying and fixing metal box of 180mm X 100mm X 60mm deep (nominal size) on surface or in recess with suitable size of phenolic laminated sheet cover in FRLS on including providing and fixing 6 pin 5/6 & 15/16 amps socket outlet and 15/16 amps piano type switch, connection, painting etc. as required.(SSK/Anchor Penta/L&T) make	2	406	Rupees Four hundred six only.	Each	812
6	Supplying and erection of 6Amp to 32Amps rating 10 KA breaking capacity, 240 volts 'C' curves miniature circuit breaker of following poles in the existing MCB DB complete with connections etc. as required. Category-A.(Hagger/AB/,L&T /Anchor make)					0
	Single pole. Cat-A.	7	239	Rupees Two hundred thirty nine	Each	1673
7	Supplying and erection of Isolator 40 A capacity, 240 volts 'C' curves of following poles in the existing MCB DB complete with connections etc. as required. Double pole Category-A. (Hagger/ABB/L&T/Anchor make)	1		only.		0
7.01	Double pole. Cat-A.(L&T)	1	426	Rupees Four hundred twenty six only.	-do-	426

	Total :-		^			99869
12	5 pin 5/ 6 Amps socket outlet,	2	57	Rupees Fifty seven only.	Each	114
12	S.P. 5/ 6 Amps one way switch,	2	42	Rupees Forty two only.	Each	84
12	Supplying and fixing following rating Piano-type switch /socket on the existing switch box / cover including connections etc. as required.SSK/Anchor Penta/L&T) make					
11	Supplying and laying 6SWG G.I. wire at 0.50 meter below ground level for earth electrode conductor including soldering etc. as required. Including carriage of material with in all leads and lifts.	22	50	Rupees Fifty only.	P/Mtr.	1100
10	Earthing with G.I. earth pipe 4.5 meter long and 40 mm dia, including accessories and providing masonry enclosure with cover plate having locking arrangement and watering pipe etc. (with charcoal or coke, salt) complete as required.	1	5752	Rupees Five thousand seven hundred fifty two only.	Per Set	5752
9.01	Double door-12 way	1	2055	Rupees Two thousand fifty five only.	-do-	2055
9	sensitivity current up to 300 milliampers in the existing MCB DB complete with connections, testing and commissioning etc. as required. a) 40Amp Category-A.(Hagger/ABB/L&T / Anchor make) Supplying and fixing of following way, single pole and neutral sheet steel MCB distribution board, 240 volts, on surface/recess, complete with tinned copper bus bar, wire-set neutral link, earth bar, din bar, detachable gland plate blanking plate, cable, indentification labels interconnections, phosphatized and powder painted, including earthing etc. as required including carriage of material with in all leads and lifts. (Hagger/ABB/L&T/Anchor make)					0
1	supplying and fixing of following rating, double pole (single phase & neutral) 240 volts, residual current circuit breaker (RCCB) having a	1	2272	Rupees Two thousand two hundred seventy two only.	Each	2272

Certified that work is of emergent nature & is impublic interest. DNIT No. 139 for the year 2024-25 has been checked and apparenced from Rs. 99869/-only. (Rupars Ninety nine In N. 1. T Recommended for approval. Mouseut Eight hundred Sixty ninepoly).

ASSISTANT ENGINEER Electrical Sub Division

Executive Engineer Electricar i Vision H.P.P.W.D. Una-174303

	DRAFT SCHEDIULE OF QUANTITY					
				Estimated cost: - Rs.79,156/	. 1	
				Earnest money:- Rs. 1600/-		
				Time Limit:- Six months.		
ME (DF WORK :- C/O OPD room cum Toilet at CHC Daulatpur, Chowk Tehsil Ghanar	i Distt.Un	a.(HP).			
	(SH :-Providing E.I.therein)					
No.	Description	Quantity	Rate	In Words.	Unit	Amount
1	Wiring for light point/ fan point/ exhaust fan point/ call bell point with 1.5 sq.mm FRLS PVC insulated copper conductor single core cable in surface / recessed steel conduit, with modular switch, modular plate, suitable GI box and earthing the point with 1.5 sq.mm. FRLS PVC insulated copper conductor single core cable etc as required (Make :-Legrand (Myrius)/L&T (Entice)/Anchor (Roma Plus) & wires :- (Make :-KEI/Anchor/L&T/Finolex) as approved by the Engineer - In- Charge.					
	(a) Group C.	10	1650	Rupees One thousand six hundred fifty only.	Each	16500
2	Winng for power plug with 2x4 Sq. mm. PVC insulated heat resistant flame retardant (HRFR) and low smoke single core (flexible) copper conductor cable in surface/recessed steel conduit along with 1 No.4 Sq.mm. HRFRLS/PVC insulated single core copper conductor cable for earthing as required, (Finolex/KEI/ Anchor make) as approved by the Engineer-In-Charge.	18	395	Rupees Three hundred ninety five only.	P/mtr.	7110
3	Wiring for circuit/sub-main with following size PVC insulated heat resistant flame retardant (HRFR) and low smoke single core (flexible) copper conductor cable in surface/recessed steel conduit along with 1 No.HRFRLS/PVC insulated single core copper conductor cable of same size for earthing as required (Finolex/KEI/Anchormake) as approved by the Engineer-In-Charge.					0
3.0	2x1.5 Sq. mm.	18	282	eighty two only.	P/mtr.	5076
30	2 2x6 Sq. mm.+ 1 X6 sq. mm earth wire	18	564	sixty four only.	P/mtr.	
3.0		12	696	Rupees Six hundred ninety six only.	P/mtr	
4	Supplying and drawing following size of PVC insulated, heat resistant, flam retardant (HRFR) and low smoke single core (flexible) copper conductor cable it existing surface / recessed, Steel/PVC conduit as required as approved by the Engineer-In-Charge. (Finolex,KEI,Anchor, make)	e		Our hundred	P/mti	0 100
4.		10	100	Rupees One hundred only.	P/mt	100

S	Supplying and fixing suitable size GI box with modular plate and cover in front on surface or in recess, including providing and fixing 3 pin 5/6 amps modular socket butlet and 5/6 amps modular switch, connection etc. as required (Make:-Legrand Myrius)/L&T (Entice) /Anchor (Roma Plus) as approved by the Engineer - In-Charge.	1	469	Rupees Four hundred sixty nine only.	Each	469
	Supplying and fixing suitable size GI box with modular plate and cover in front on surface or in recess, including providing and fixing 6 pin 5/6 & 15/16 amps modular socket outlet and 15/16 amps modular switch, connection etc. as required. (Make:-Legrand (Myrius)/ L&T (Entice)/Anchor (Roma Plus) as approved by the Engineer In-Charge.	1	621	Rupees Six hundred twenty one only.	Each	621
7	Supplying and fixing modular blanking plate on the existing modular plate & switch box excluding modular plate as required.(Make :-Legrand (Myrius)/L&T (Entice)/Anchor (Roma Plus) as approved by the Engineer - In- Charge.	4	40	Rupees Forty only.	Each	160
8	Supplying and fixing Ding-Dong / Electronic musical bell, suitable for D.C./A.C. single phase,230 volts complete as required:- (SSK,Anchor/L&T make)	1	206	Rupees Two hundred six only.	Each	206
9	Supplying and fixing bakelite batten /angle holder including connections etc. as required. SSK Anchor/L&T	1	88	Rupees Eighty eight only.	Each	88
10	Supplying and erection of 6 amps. to 32 amps. rating, 10 KA breaking capacity, 240 volts, 'C' curves, miniature circuit breaker of following poles in the existing MCB DB complete with connections etc. as required as approved by the Engineer-In-Charge (Make:-Legrand / L&T /ABB/Anchor)					
10.01	Single pole. Cat-A	3	239	Rupees Two hundred thirty nine only	Each	717
11	Supplying and erection of Isolator 40 A capacity, 240 volts 'C' curves of following poles in the existing MCB DB complete with connections etc. as required as approved by the Engineer-In-Charge Double pole Category-A. (Legrand, ABB, L&T, Anchor make)					
11.0	1 Double pole. Cat-A.	1	426	Rupees Four hundred	Each	426
12	Supplying and fixing following rating, double pole (single phase & neutral) 240 volts, residual current circuit breaker (RCCB), having a sensitivity current up to 300 miliampers in the existing MCB DB complete with connections, testing and commissioning etc. as required as approved by the Engineer-In-Charge (Make:-Legrand , L&T ,ABB,Anchor)			Too be a second	Each	2272
12.0	01 40 Amps. Cat-A.	1	2272	Rupees Two thousand two hundred seventy two only.	Each	2212

	Supplying and fixing of following way, single pole and neutral sheet steel MCB distribution board, 240 volts, on surface / recess, complete with tinned copper busbar, wire-set, neutral link, earth bar, din-bar, detachable gland plate, blanking plate, cable, identification labels interconnections, phosphatized and powder painted, including earthing etc. as required as approved by the Engineer-In-Charge.					
	Double door-8 way(Make:- Legrand , L&T ,ABB,Anchor)-	1	1703	seven hundred three	Each	1703
14	Providing. Installation, testing and commissioning of BLDC ceiling fan (5 star rating), without fan regulator including wiring the down rods of standard length (up to 30 cm) with 16/0.20 mm twin twisted flexible, cotton braided, copper cable, including providing and fixing phenolic laminated sheet cover on the fan box and earthing etc. as required: Make:- Usha (Technoaire BLDC without remote)/Orient/Crompton as approved by Engineer-In-Charge.(Five year warranty)			only.		
14 01	Coming Fair 1200 min sweep, Calegory-A	2	4323	Rupees Four thousand three hundred twenty three only.	Each	8646
15	Supplying and fixing two module stepped type electronic fan regulator on the existing modular plate switch box including connections but excluding modular plate etc. as required.(Make:-Legrand (Myrius)/L&T (Entice)/Anchor (Roma Plus) as approved by the Engineer - in- charge.	2	422	Rupees Four hundred twenty two only.	Each	844
16	Supplying and fixing Fan box of M.S.sheet with iron rod hook 12 mm.in place of junction box complete as required. National /Anchor /MK	2	101	Rupees One hundred one only.	Each	202
17	Providing and installation of exhaust fan of following sizes in the existing opening, including making the hole to suit the size of the above fan, making good the damages, connections, testing and commissioning etc. as required:- Crompton 300mm Drift Air Plus Metal Anti Dust)/ Usha Aeroclean Plus GBD/Orient.(Five year warranty)		. 4			
17 01	Exhaust Fan, Light duty, 300 mm sweep	1	3481	Rupees Three thousand four hundred eighty one only	Each	3481
18	Supplying and fixing exhaust fan louver shutter for 300 mm.exhaust fan on the existing wall,painting etc, as required.(National /Anchor/MK make)	1	750	Rupees Seven hundred fifty only.	Each	750
19	Supplying and fixing Modular A.C. Box with MCB Protection 20 Amps metal enclosure and unbreakable heavy duty ISI mark Plug top and 3 Module box,2 module box,15/16 amp modular socket including making connections,testing etc,as required.(SSK ,Cat.No.PSM-1501,HSN Code 8536/Anchor Classiccat no.98489/ L&T make)	1	1271	Rupees One thousand two hundred seventy one only.	Each	1271

	Providing and Fixing of 1200 mm X 300 mm LED fixture 36 W +/- 1W Surface mounted fixture with HET Plastic diffuser with CRCA Powder Coated housing having minimum system lumen efficacy 100lm/W with P.F.>0.95 with THD<10%. The LED with Useful life of 50000 Hrs at L70. The LEDs used in the luminaire shall have CCT of 5700 K with CRI of minimum 80. The Input voltage range shall be 150V to 270V , 50/60 HZ complete with all accessories, including connections, testing and commissioning etc.as required complete in all respects.wipro List Price 01/2024. cat no. CRCO18S036HP57 /Panasonic/Philips five year warranty	2	3964	Rupees Three thousand nine hundred sixty four only.	Each	7928
21	Supplying and fixing of fancy wall bracket of model FOLIA-HRI Cat.No.Lux Max-PT-221 .SUN-200 finish colour with opal glass diffuser made of mild steel, containing thread type LED lamp holder(s) of all sizes and shapes, complete with all accessories but excluding led lamp including making connections, testing etc. as required.: Make Twinkle model FOLIA-HR Cat.No.Lux Max-PT-221 ,SUN-200/Philips/,Jaquar as approved by Engineer-in -charge.(Five year warranty)	1	1049	Rupees One thousand forty nine only.	Each	1049
23	Supplying and fixing LED Lamp 9 watts , 6500K,900 Lumens 240 volts AC.supply 50 Hz in the existing batten holder,pendent holder,wall bracket & bulk head fitting etc, as required Panasonic code PBUM01097/Tisva/Philips make)	1	133	Rupees One hundred thirty three only.	Each	133
	Total:-					79156

Certified that work is of emergent nature & is impublic interest. DNIT No. 141 for the year 2024-25 has been

DNIT Recommended for approval

cheeked for Bs 79156/- only (Rupoes Seventy

Nine thought one hundred fifty Six only).

ASS TANT ENGINEER ical Sub Division H. W.D. UNA

Executive Engineer Electrical Division

H.P.P.W.D Una-174303

DRAFT SCHEDULE OF QUANTITY

Sr. Description of Items

Estimated cost:- Rs. 90,520/-

Earnest money:- Rs. 1800/-

Time Limit:-Four months.

Name of work:- Providing Serevice of 01 No. Electrician Gr.II for attending the complaints of E.I. in C/O New Judicial Court complex Amb Distt. Una (H.P)w.e.f. four months from awardeddate.

Description of flems.	Quantity		Rate In Fig.	In words.	Unit	Amount
Engagement of 01 No. Electrician/Technicial Gr-II for attending the E.I. complaints under Section Amb.	4	Months 122 days	1		Per month	90520
Total:-						90520
	al.	beer (Ru	chec	Wed for Rs. 905: Ninety Howard	Sof I Tr	only.
ASSISTANT ENGINEER Electrical Sub Division H.P.P.W.D. Sida		twe	enty	enly).)
1	Engagement of 01 No. Electrician/Technicial Gr-II for attending the E.I. complaints under Section Amb. Total: Total: Total: Total: Total: ASSISTANT ENGINEER Electrical Sub Division	Engagement of 01 No. Electrician/Technicial Gr-II for attending the E.I. complaints under Section Amb. Total: Total: Total: Total: ASSISTANT ENGINEER Electrical Sub Division	Engagement of 01 No. Electrician/Technicial Gr-II for attending the E.I. complaints under Section Amb. Total:- Led that work is a emergent in nature & is in public interest. DN/T Recommended for approval. (Rue ASSISTANT ENGINEER Electrical Sub Division	Engagement of 01 No. Electrician/Technicial Gr-II for attending the E.I. complaints under Section Amb. Total: Total:- Total:-	Engagement of 01 No. Electrician/Technicial Gr-II for attending the E.I. complaints under Section Amb. Total: Total: Total: Total: That work is a comergent in nature & is in public interest. DNIT No. 142 Fair he year been approval. ASSISTANT ENGINEER Electrical Sub Division Engagement of 01 No. Electrician/Technicial Gr-II for attending A Months 122 days Engagement of 01 No. Electrician/Technicial Gr-II for attending A Months 122 days Engagement of 01 No. Electrician/Technicial Gr-II for attending A Months 122 days Engagement of 01 No. Electrician/Technicial Gr-II for attending A Months 122 days Engagement of 01 No. Electrician/Technicial Gr-II for attending A Months 122 days Engagement of 01 No. Electrician/Technicial Gr-II for attending A Months 122 days Engagement of 01 No. Electrician/Technicial Gr-II for attending A Months 122 days Engagement of 01 No. Electrician/Technicial Gr-II for attending A Months 122 days Engagement of 01 No. Electrician/Technicial Gr-II for attending A Months 122 days Engagement of 01 No. Electrician/Technicial Gr-II for attending A Months 122 days Engagement of 01 No. Electrician/Technicial Gr-II for attending A Months 122 days Engagement of 01 No. Electrician/Technicial Gr-II for attending A Months 122 days Engagement of 01 No. Electrician/Technicial Gr-II for attending A Months 122 days Engagement of 01 No. Electrician/Technicial Gr-II for attending Engagement of 01 No. Electrician/Technicial Gr-II for attending A Months 122 days Engagement of 01 No. Electrician/Technicial Gr-II for attending A Months 122 days Engagement of 01 No. Electrician/Technicial Gr-II for attending Engagement of 01 No. Electrician/Technician Engagement of	Engagement of 01 No. Electrician/Technicial Gr-II for attending the E.I. complaints under Section Amb. Total: Total:

Electrical Division H.P.P.W.D Una-174303

	DRAFT SCHEDULE OF QUANTITY					
				Estimated cost:- Rs. 99,263/-		
				Earnest money:- Rs. 2,000/-		
				Time Limit:- Six months.		
NAME	OF WORK :- C/O 2 nos. class room at Govt.Sr. Sec. Sch	ool Duleh	ar Tehsi	Haroli, Distt. Una. (H.P.)		
	(SH:-Providing accessories there in)					
S. No.	Description	Quantity	Rate In Fig.	In Words.	Unit	Amount
1.00	Providing, Installation, testing and commissioning of BLDC ceiling fan without fan regulator (5 star rating), including wiring the down rods of standard length (up to 30 cm) with 16/0.20 mm twin twisted flexible, cotton braided, copper cable, including providing and fixing phenolic laminated sheet cover on the fan box and earthing etc. as required: (Usha/Crompton/Orient)with three year warranty					
1.01	BLDC Ceiling Fan 1200 mm sweep,	15	4323	Rupees Four thousand three hundrdd twenty three only.	Each	64845
2	Supplying and fixing two module stepped type electronic fan regulator on the existing piano laminated late switch box including connections but excluding piano laminated etc. as required.SSK/Anchor Penta/L&T) make	15	258	Rupees Two hundred fifty eight only.	Each	3870
3	Supplying and fixing fan box made of M.S. sheet with iron rod Hook 12mm in place of junction box complete with Bakelite Round sheet as required.National/Anchor/ L&T	15	101	Rupees One hundred one only.	-do-	1515

	Providing and fixing LED Batten Light of IP20 Led fixture 20 W+/-W with Surface Mounted 4 Feet with PC housing having minimum system lumen output 1000 lumens and system lumen efficacy of 117 lm/W with P.F.>0.95 with THD<20%, CRI 80 .The LED with Useful life of 25000 Hrs at L70 . The LEDs used in the uminaire shall have CCT of ANSI Bin 6500 K with CRI of minimum 80.The Input voltage range shall be 150V to 270V, 50/60 HZ complete with all accessories, including connections, testing and commissioning etc.as required complete in all respects.Panasonic Cat PSTM02207BS/Wipro/Philips to the best satisfaction of Engineer in charge at site with five year warranty	15	545	Rupees Five hundred forty five only.	Each	8175
5	Providing and installation of exhaust fan of following sizes in the existing opening, including making the hole to suit the size of the above fan, making good the damages, connections, testing and commissioning etc. as required:-					0
6	Exhaust Fan Heavy Duty 300mm(Usha Aeroclean Plus GBD) /(Crompton Semi commercial Transair Double Ball Bearing)/Orient	2	3481	Rupees Three thousand four hundred eighty one only.	Each	6962
7	S/F of exhaust fan louver shutter for 300 mm.exhaust fan on the existing wall complete with connections etc. as reqd. National/Anchor/L&T make.	2	750	Rupees Seven hundred fifty only.	Each	1500
8	Supplying and fixing street light LED 35watt die cast Aluminium housing with frame and toughened glass, pipe mounting 5700k, (Three YEAR WARRANTY) and it should be compatible with specification e.i. Power Factor > .9, Harmonic Distortion<10% and efficacy >120 Lumens per watt, suitable for input voltage: AC 220-240 V, 50/60Hz, complete with all accessories, connections, testing and commissioning etc. Make -PanaspnicPSTM27358 /Philips/wipro/ as approved by Engineer-in-Charge with five year warranty	2	3728	Rupees Three thousand seven hundred twenty eight only.	Each	7456

9	Supplying and fixing PVC batten/ angle holder including connection etc. as required. Anchor/L&T/Panasonic	- 5	88	Rupees Eighty eight only.	Each	440
	Supplying and fixing LED Lamp 9 watts, 6500K,900 Lumens 240 volts AC supply 50 Hz in the existing batten holder,pendent holder,wall bracket & bulk head fitting etc, as required.Panasonic code PBUM01097/Tisva/Philips make)	5	150	Rupees One hundred fifty only.	Each	750
11	Wiring for sub main wiring with following sizes of weather proof twin core aluminium conductor cable on G.I.bearer wire etc,as required.(Finolex/Anchor/KEI)					
11.01	10 mmsq.	40	63	Rupees Sixty threeonly.	Per metre	2520 /
	Supplying and fixing Computer board comprising metal box 200 mmx150 mmx75 mm for 3 nos 5 amp piano type switches and 3 Nos 5 amp sockets comprising 3 mm thick phenolic laminated sheet cover for metal box, including connections etc as required.	2	615	Rupees Six hundred fifteen only.	Each	1230
	TOTAL:-					99263

Cornfied that work is a emergent nature & is in public interest.

D. N.I.T. Recommended for approval.

DNIT No. 140 for the year 2024-25 has been excelled and appeared for amounting to Ps. 99263/- only. (Rupous Ninety nine thousand Two hundred.

Sixty twee only)

Electrical Sub Division H.P.P.W.D

Executive Engineer Electrical Division

H.P.P.W.D Una-174303